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SF2EHE
1% B - KR B AEERATALRNEEE) | e E
5cm 50cm 100cm

DBt et Ep — 0.05 — PA-1000

28 (BN QEEALE — 0.06 — PA-1000
QEIEREB — 0.06 — PA-1000
iz 0.06 0.05 — PA-1000
OBt L ED — 0.05 — PA-1000

8/6 (AR QEEILE — 0.07 — PA-1000
QEIEREB — 0.05 — PA-1000
iz 0.05 0.05 — PA-1000

ERIEE

B KR B b AEERATALANEEE) | gy e

5cm 50c¢m 100c¢m

OBt L ED — 0.07 — PA-1000

25 GRORE R QEELE — 0.07 — PA-1000
QEIEREB — 0.06 — PA-1000
whi5 0.05 0.05 — PA-1000
OBt Fh L ER — 0.06 — PA-1000

8/2 ()M QEREILE — 0.08 — PA-1000
QEIEREB — 0.05 — PA-1000
wi5 0.05 0.05 — PA-1000
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TR0
— —— AIEE (R1o0S—~ )L EHF) N
AlE R K% AITEHh HBE SR HZE
5cm 50cm 100c¢m
D HRILER — 0.06 — PA-1000
= & — 0.08 — PA-1000
2/5(R)EY OEREL
QERErER — 0.06 — PA-1000
Fhi5 0.07 0.07 — PA-1000
DEh i il Ep — 0.05 — PA-1000
= & — 0.08 — PA-1000
8/3(&)HEN DEL B
QEErER — 0.04 — PA-1000
b5 0.06 0.06 — PA-1000
R 294 FE
N — BIEME (Ao —N)LNER) N
HE B - X% AITE Hh B E S =E3
5cm 50cm 100c¢m
Dkt FRILER — 0.06 — PA-1000
B E — 0.08 — PA-1000
2/70K) BN DEL B
QERERTER — 0.06 — PA-1000
b5 0.05 0.05 — PA-1000
Dkt FpILER — 0.06 — PA-1000
B & — 0.08 — PA-1000
8/3GR NN |
QEERER — 0.05 — PA-1000
b5 0.05 0.06 — PA-1000
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TRi284EE
— —— AIEE (R1o0S—~ )L EHF) N
AlE R K% AITEHh HBE SR HZE
5cm 50cm 100c¢m
D HRILER — 0.07 — PA-1000
= & — 0.09 — PA-1000
2/2(K)EN QEfL B
QERErER — 0.06 — PA-1000
Fhi5 0.08 0.07 — PA-1000
DEh i il Ep — 0.06 — PA-1000
= & — 0.07 — PA-1000
8/4(K)HEN DEL B
QEErER — 0.07 — PA-1000
15 0.07 0.07 — PA-1000
FERR214EE
N — BIEME (Ao —N)LNER) N
HE B - X% HBITE Hh = B E S =E3
5cm 50cm 100c¢m
Dkt FRILER — 0.06 — PA-1000
B E — 0.09 — PA-1000
aRHh |
QERERTER — 0.08 — PA-1000
b5 0.08 0.08 — PA-1000
Dkt FpILER — 0.07 — PA-1000
B & — 0.09 — PA-1000
8/71(&)HEN DERE AL
QEERER — 0.10 — PA-1000
b5 0.09 0.08 — PA-1000

4/16




CSKRBEICH T HMSHIRERERLFR

et : 4718321

TR 264EFE
B B - E 3 B A AEE (A7 —AVEEE) | s e
5cm 50cm 100cm
DBt et Ep — 0. 06 — PA-1000
2 40K) QEREALE — 0. 08 — PA-1000
QEIEREB — 0. 08 — PA-1000
hi5 0. 10 0. 09 — PA-1000
DBt e Ep — 0. 08 — PA-1000
o 6(K) QEREALE — 0. 08 — PA-1000
QEIEREB — 0. 09 — PA-1000
iz 0. 11 0. 10 — PA-1000
OFith i ED — 0. 07 — PA-1000
6./5() QEREALE — 0. 09 — PA-1000
QEIEREB — 0.10 — PA-1000
Wiz 0. 08 0. 09 — PA-1000
OBt L ED — 0.08 — PA-1000
5.70K) QEREALE — 0. 08 — PA-1000
QEIEREB — 0.10 — PA-1000
Wiz 0. 11 0. 10 — PA-1000
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TR 254
Bl = (i SN JLREE
A% A - X2 A AEB(RATAL—AIVERE) | gyose .
5cm 50¢cm 100¢cm
D HRILER — 0. 07 — PA-1000
EREJdL X —_ . _ -1
11 (O B QEEEAL &R 0. 09 PA-1000
QERErRER — 0.12 — PA-1000
fbig 0. 11 0.10 — PA-1000
Dkt FRILER — 0. 08 — PA-1000
EREILE _ _ _ _
221 (8 BN QERELED 0. 09 PA-1000
QEEmAD — 0. 11 — PA-1000
15 0. 10 0. 10 — PA-1000
Dt & — 0. 08 — PA-1000
FR264 QERELED — 0.10 — PA-1000
1715CK BN | QEREm S — 0.15 — PA-1000
w15 0. 13 0.12 — PA-1000
Dt L&D — 0. 09 — PA-1000
ERELE — 0. 11 — PA-1000
12./6(2) BN QEE L A
QERERTER — 0.13 — PA-1000
b5 0.14 0. 11 — PA-1000
Dkt FpIlER — 0. 07 — PA-1000
EREILE _ _ _ _
12000 B QEREAL &R 0. 09 PA-1000
QEERER — 0.12 — PA-1000
b5 0.10 0. 10 — PA-1000
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R 254ERE
AEE X A ARMATEL_ZNIER) | gyesg %
5¢m 50cm 100cm
OBuih oL ED — 0. 08 — PA-1000
010K B QEREALE — 0. 09 — PA-1000
QEIRER &R — 0.13 — PA-1000
hi5 0. 11 0. 09 — PA-1000
OB oL ED — 0. 09 — PA-1000
0 12(K) B QEREALE — 0.10 — PA-1000
QEIRER &R — 0.13 — PA-1000
fibis 0.13 0.12 — PA-1000
DB I ED — 0. 09 — PA-1000
6. 19(B) M QEREALE — 0.10 — PA-1000
QEIRER &R — 0.14 — PA-1000
whi5 0.13 0.12 — PA-1000
Dt v ED — 0. 09 — PA-1000
18 B ER QEREALE — 0.12 — PA-1000
QEFER &R — 0.12 — PA-1000
whi5 0.13 0.12 — PA-1000
Dt v ED — 0. 09 — PA-1000
6.7(%)8Y QEREALE — 0.10 — PA-1000
QEIEREB — 0.13 — PA-1000
Wiz 0. 14 0. 11 — PA-1000
Dt 5D — 0. 09 — PA-1000
5. 23 (K) N QEIREILEB — 0.10 — PA-1000
QEIER&B — 0.10 — PA-1000
Wiz 0.12 0. 11 — PA-1000
Dt 5D — 0. 09 — PA-1000
4 19(8)BY QEREAE — 0.10 — PA-1000
QEIEREB — 0. 11 — PA-1000
fibiz 0.12 0.13 — PA-1000
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R4 E

/EIJIEE iﬂ; /ﬂ“/ﬁﬂﬂ,ﬁ 5em 50cm 100cm /E“}'E%g ﬁ%%

1FYS#H(EWN) — 0. 05 0. 04 PA-1000

IFFECXEE(BA) — 0. 04 0. 05 PA-1000

3/14(K) Y NFEE=E(BA) — 0. 04 0. 05 PA-1000

1FCEH(BN) — 0. 05 0. 04 PA-1000

1FZEE(ERN) — 0. 04 0. 05 PA-1000

O ER (1) — 0. 09 — PA-1000

<, |85 0.14 0.13 — PA-1000

R & T — 0.13 — PA-1000

@EFEL &R — 0.10 — PA-1000

IFFECXEE(ER) — 0. 04 0. 05 PA-1000

1F<EM (B — 0. 05 0. 05 PA-1000

2715(s) M 1FEEELZE (B ) — 0. 05 0. 05 PA-1000

1FBE (BN) — 0. 04 0. 04 PA-1000

O ER (1) — 0.10 — PA-1000

=1 |25 0. 15 0. 14 — PA-1000

2714(%) &Y OEEGES — 0.13 — PA-1000

@EFEL &R — 0.10 — PA-1000

O ER (1) — 0. 11 — PA-1000

= |25 0. 15 0. 14 — PA-1000

1725(%) &Y OEEGES — 0. 14 — PA-1000

@EFEL &R — 0. 11 — PA-1000

IFFETCXEE(ERN) — 0. 04 0. 04 PA-1000

ERR254 1F<EM (B — 0. 04 0. 05 PA-1000

1.718(%) B [1FEE(BRN) — 0. 05 0. 03 PA-1000

1Rl ZE (BN) — 0. 05 0. 05 PA-1000
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T A 244F
— . BIEE (A0S —XN )L ER) .
AlIE B - X1 I 5E Hh g3 AlTE
|7E B - X% | 5E Hh = e o | TE 25 e
1F<CEHE(BR) — 0. 04 0. 05 PA-1000
1FEEE (BN) — 0. 04 0. 04 PA-1000
1214(%) B —
(&) Wh IFFETREE(ERN) — 0. 04 0. 05 PA-1000
1FLEE(ERN) — 0. 04 0. 05 PA-1000
Ot hLER (1) — 0.12 — PA-1000
Qs 0.18 0.14 — PA-1000
127120K) B
S G T — 0 14 — PA—1000
@EFEALER — 0.10 — PA-1000
Ot hLER (1) — 0. 11 — PA-1000
@iz 0.18 0. 15 — PA-1000
11.716(£) B
& BN EEmD — 0. 15 — PA—1000
@EFEALER — 0.10 — PA-1000
IFFETCXEE(BA) — 0. 04 0. 04 PA-1000
=, N"F<EH(ER) —_ 0. 05 0. 05 PA-1000
1112 £
(R) / 1FYTH#E(EN) — 0. 04 0. 05 PA-1000
IFEELE (BN) —_ 0. 04 0. 04 PA-1000
IFFETCXEERERN) — 0. 04 0. 04 PA-1000
1= (BA) — 0. 05 0. 05 PA-1000
10712(&) B
) BN 1FEY A (BR) — 0. 04 0. 04 PA-1000
1F<EME(BA) —_ 0. 05 0. 05 PA-1000
O#b i ER (1) — 0. 11 — PA-1000
= Q15 0.13 0.16 — PA-1000
10711 ¢( £
) ! QERErER — 0. 11 — PA-1000
@EREILER — 0.12 — PA-1000
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T RR244EFE
S [ BIEME(T4oO —N )L ER) ——
/EIJIEE iﬂ; /ﬂ“/ﬁﬂﬂ,ﬁ =0 50cm 100em /E“}'E%g ﬁ%%
1FY9# (BW) — 0. 03 0. 04 PA-1000
IFFETCXEE(EN) — 0. 04 0. 05 PA-1000
1IFEEE (BA) — 0. 05 0. 05 PA-1000
+, NF<ER(ERN) — 0. 04 0. 05 PA-1000
SA13(K) e O b ER (1) — 0. 11 — PA-1000
Qb5 0. 11 0. 11 — PA-1000
QEIEEr &R — 0.13 — PA-1000
@EFEILEB — 0.12 — PA-1000
1IFXE(BWN) — 0. 04 0. 04 PA-1000
1IFEEE (BA) — 0. 05 0. 05 PA-1000
8./10(&) Bh NFEYAME(ERA) — 0. 05 0. 05 PA-1000
1F<EH(BA) — 0. 05 0. 05 PA-1000
1FY 9 (ERN) — 0. 06 0. 05 PA-1000
O b ER (1) — 0.13 — PA-1000
" Qb5 0.13 0.13 — PA-1000
B W | mEmE — 0. 20 — PA-1000
@EREILE — 0.12 — PA-1000
1IFYFHE(ER) — 0. 05 0. 05 PA-1000
1P (BN) — 0. 04 0. 06 PA-1000
IFEYAR (BW) — 0. 05 0. 06 PA-1000
1/12(K) & 1F<EM(BA) — 0. 06 0. 06 PA-1000
IFEEE (BA) — 0. 06 0. 06 PA-1000
IFFECXIEE(EN) — 0. 05 0. 05 PA-1000
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R 244EFE
— i BIEE (R4 —X)L ) —
/EIJIE H iﬂ; /ﬂ“/ﬁﬂﬂ,ﬁ Som 50em 100¢em /E“}'E%g ﬁ%%
Ot ER (L) — 0.12 — PA-1000
L, |95 0.10 0.12 — PA-1000
1O T QEIRER &R — 0. 21 — PA-1000
@EEALE — 0.12 — PA-1000
IFOKIH (BA) — 0. 05 0. 06 PA-1000
IF>SEHH(BW) — 0. 05 0. 05 PA-1000
IF<E(ER) — 0. 06 0. 05 PA-1000
6.719(K) & |IFEYAEERN) — 0. 05 0. 05 PA-1000
IFFBETXIEE(EN) — 0. 05 0. 06 PA-1000
1FiEEL = (BA) — 0. 05 0. 06 PA-1000
IFHAOERA) — 0. 04 0. 04 PA-1000
Ot ER (L) — 0.13 — PA-1000
L, |85 0.15 0.13 — PA-1000
SR T QEFER &R — 0.16 — PA-1000
@EEALE — 0.12 — PA-1000
IFOKSH(ERN) — 0. 05 0. 05 PA-1000
IF>SEHH(BW) — 0. 05 0. 04 PA-1000
1F<ER (BA) — 0. 05 0. 06 PA-1000
5/171(K) Bh [1FEYABE(ER) — 0. 05 0. 05 PA-1000
IFFETXIEE(EN) — 0. 06 0. 06 PA-1000
1FiEgL = (BA) — 0. 05 0. 06 PA-1000
IFHAOERA) — 0. 04 0. 05 PA-1000
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FRE23~244E
— i BIEE (R4 —X)L ) —
/EIJIE H iﬂ; /ﬂ“/ﬁﬂﬂ,ﬁ Som 50em 100¢em /E“}'E%g ﬁ%%

DBt dpilvER (L) — 0.12 — PA-1000
s, |O%iE 0. 11 0.12 — PA-1000
S0 B S mm — 0.16 — PA-1000
@EEALE — 0.13 — PA-1000
DBt ilvER (L) — 0.12 — PA-1000
oy e |25 0.10 0. 11 — PA-1000
00 B e — 0.16 — PA-1000
@EEALE — 0.13 — PA-1000
IFOKIH(EA) — 0. 07 0. 07 PA-1000
IF>SEHH(BW) — 0. 04 0. 05 PA-1000
423(A) M |IFCEME(ER) — 0. 05 0. 05 PA-1000
IFFBETXIEE(EN) — 0. 05 0. 05 PA-1000
1P = (BA) — 0. 06 0. 06 PA-1000
IFOKSH(ERN) — 0. 05 0. 06 PA-1000
1FY 3 (BR) — 0. 05 0. 06 PA-1000
37210K) Bh [1F<EHR(BR) — 0. 06 0. 07 PA-1000
IFFBETXIEE(EN) — 0. 08 0. 07 PA-1000
1P = (BR) — 0. 06 0. 06 PA-1000
Ot ER (1) — 0.14 — PA-1000
N (O 0. 11 0.12 — PA-1000
200 T QEIEREB — 0.19 — PA-1000
@EREILE — 0.16 — PA-1000
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FRi234EE =
S == gl o BIEE (A7 —N)LER) —
/,EIIIEE 9&1'; /ﬁllmiﬂ,ﬁ\ 5em 50cm 100¢cm IEIIIE%% 1%%
IFOKZH (BN — 0. 06 0. 05 PA-1000
2712(B) £ PFFBETXEZEENRN) — 0. 05 0. 06 PA-1000
1F8EEE (BA) — 0. 04 0. 06 PA-1000
O L ER (1) — 0. 14 0.13 PA-1000
- Q15 0. 09 0. 10 — PA-1000
270(R) B S e — 0.18 — PA-1000
@EFEL &R — 0.19 — PA-1000
IFOKIH (BN — 0. 06 0. 06 PA-1000
1FYS#H (EWN) — 0. 06 0. 06 PA-1000
192 g |[ECEHEER) — 0. 07 0. 06 PA-1000
= PEAEEHERN) — 0. 06 0. 06 PA-1000
IFFECXEEEN) — 0. 06 0. 06 PA-1000
IFXE (EA) — 0. 06 0. 06 PA-1000
O L ER (1) — 0.14 0. 14 PA-1000
T fi244 Qb5 0. 11 0. 11 — PA-1000
1170K) Bh |QERERER — 0. 20 — PA-1000
@EREILER — 0.16 — PA-1000
B b ER (L) — 0.16 0. 16 PA-1000
12716 (£) BEh |15 0.12 — — PA-1000
B BERKES — 0. 21 —
1FYTH=EER) — 0. 07 — PA-1000
12140K) @ |1IFEE=E(BRN) — 0. 07 — PA-1000
IFRE=E(ER) — 0. 06 — PA-1000
14/16 (7529)




CSKRBEICH T HIMSHIRERELFR

Fr7E 3t : 4818321

TRE234EE
. . HEE (428> —R)LNER .
WER K MR AR 17 B | wes %
5cm 50cm 100cm
11725(%) Bh |750anTF — 0. 21 — PA-1000
1FO- 1 IR=E(BA) — 0. 07 — PA-1000
11./21 &
(R) B 1Rl (B AN) — 0. 06 — PA-1000
o iER () — 0.18 0.17 PA-1000
1116(K) B
OK) IR i5 0. 14 — — PA-1000
o iER () — 0.18 0.17 PA-1000
10726(7K) H&
OK) R w15 0. 13 — — PA-1000
= |Euth g ER (L) — 0.18 0.17 PA-1000
10719(7k) £t
/190K) / fhi5 0.13 — — PA-1000
1FO-1ZRE(BWN) — 0. 07 — PA-1000
= NFEE=E(BA) — 0. 06 — PA-1000
10713 =L ———
() / EMRIUFE — 0. 25 — PA-1000
0-1EIRERIZE — 0. 22 — PA-1000
i dhiER (L) — 0.18 0.17 PA-1000
10712(K) B
/120K) B hig 0. 10 — — PA-1000
- EhhiER (L) — 0.18 0.17 PA-1000
1076 =l
76(R) &Y b5 0.10 — — PA-1000
i dhiER (L) — 0.17 0.16 PA-1000
9,728(K) B
/280K) B hig 0. 09 — — PA-1000
1FO-1RIR=E(BMA) — 0. 07 — PA-1000
- IFEEELE (BN) — 0. 06 — PA-1000
9.727(k) =L, ——
(40 ! EMRIUFE — 0.16 — PA-1000
0-1HRIRERIZ A& — 0.23 — PA-1000
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R 234ERE
AEE X A AERATEL—ZNIER) | gyes %
5cm 50cm 100¢m
0 140K) B Bt ER (L) — 0. 20 0.19 PA-1000
ibis 0. 09 — — PA-1000
0 70K) EEh Bt ER (L) — 0.18 0.17 PA-1000
ibis 0.10 — — PA-1000
8.30(X) BEh Bt ER (L) — 0.17 0.17 PA-1000
15 0.10 — — PA-1000
., [IFO-1RIRE(BMN) — 0. 07 — PA-1000
8/20(R) BN e 2m) — 0. 07 —_ PA-1000
8. 240K) B Bt ER (L) — 0.18 0.17 PA-1000
15 0. 44 — — PA-1000
8 170K) Bh Bt ER (L) — 0.19 0. 20 PA-1000
15 0.12 — — PA-1000
8.100K) Bh Bt hER (1) — 0.19 0.19 PA-1000
15 0. 14 — — PA-1000
= Bt ER (1) — 0. 20 0.19 PA-1000
830K &Y 15 0. 11 — — PA-1000
o, |EHhELER (L) — 0. 20 0.19 PA-1000
1728 &Y 15 0.10 — — PA-1000
TRR234 b ER (L) — 0. 24 0.19 RDS-30
6.723(R) BEh |pig 0. 21 — — RDS-30
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